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2. Simplify
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3. Find the value of

(a) 
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(b) 
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4. Evaluate

(a) 
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(b) 
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5. Find the value of the following, giving each answers in standard form,

(a) 
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6. A man deposited $4000 in a bank with the simple interest rate of 5% per annum. In how many years time will he have $5000 in the bank?
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7. (a)
The ratio of 
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(b) A sum of $44 is divided in the ratio of 
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, find the largest share.
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8. A student scored 60 marks for his first test. The next test he scored 72 marks. Calculate his percentage increase in the test mark.
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9. Given that 
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(b) the greatest value of 
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(c) the least value of 
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10. A profit of 40% is made when a computer is sold at the discount of 30%. Given that the computer costs $1500, calculate the selling price of the computer before discount.

Cost Price 
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Selling Price before discount 
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(b) 
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12. A map is drawn to a scale of 
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(a) Calculate the distance, in kilometres between 2 towns, which are 12 cm apart.
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(b) Calculate, in square centimetres, the area on the map, which represents a pond of area 25 km2 on the ground.
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13. In the diagram, which is not drawn to scale, AB is parallel to CD and 
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14. Given that y varies inversely as 
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(b) the value of y when 
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15. (a)
Solve the equation: 
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(b) Given that 
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16. (a)
Express 
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(b) The variable x, y and z are connected by the equation 
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17. (a)
Ali measured the length of the shadow cast by a stick of 25 cm long to be 10 cm. At the same time, the length of the shadow cast by a flagpole is 1.5 m. Estimates, in metres, the height of the flagpole.
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(b)
A provision shop sells cooking oil in two similar bottles. The smaller bottle costs $2.00 and the larger bottle costs $10.00. Given also that the height of the larger bottle is twice that of the smaller bottle. Which bottle is more economical to buy? Justify your answers.
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18. [image: image134.wmf]÷
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The diagram, not drawn to scale, shows a circle centre O and radius 7 cm. AC and BC are tangents to the circle at A and B respectively and 
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(a) Calculate the area of the sector AOD.

area of sector AOD
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(b) Calculate 
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(c) Prove that OACB is a cyclic quadrilateral.
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Since 
[image: image84.wmf]o

180

=

Ð

+

Ð

ACB

AOB

 OACB is a cyclic quadrilateral


[1]

19. Given that 
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(b) Given that 
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(c) With the value of k from (c), find the coordinates of D such that ABCD is a parallelogram.


[image: image93.wmf]¾

®

¾

OD



[image: image94.wmf]¾

®

¾

¾

®

¾

¾

®

¾

¾

®

¾

+

=

+

=

BC

OA

AD

OA








[1]


[image: image95.wmf]÷

÷

ø

ö

ç

ç

è

æ

=

÷

÷

ø

ö

ç

ç

è

æ

+

÷

÷

ø

ö

ç

ç

è

æ

=

16

12

10

9

6

3


Coordinates of 
[image: image96.wmf])

16

,

12

(

D









[1]

20. The interior angle of a regular n-sided polygon is 9o more than the interior angle of a regular 
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21. The equation of the line 
[image: image103.wmf]60
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 cuts the x-axis at A and y-axis at B.

(a) Find the gradient of AB.
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(b) A point K lies on the line such that the distance of K from the y-axis is twice its distance from the x-axis. Find the coordinates of K.

Let 
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(c) Find the area of 
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22. [image: image135.wmf]÷
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 The diagram shows the speed time-graph of two cars X and Y. Car Y starts 2 seconds later than car X. Calculate

(a) the acceleration of Car Y when 
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(b) the average speed of Car X for the whole journey,

Distance travelled by Car X 
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Average speed of Car X 
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(c) the time, T, when Car Y overtakes Car X, given that 
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[image: image120.wmf]140

40

40

)

5

(

40

3

2

1

-

=

´

-

+

´

´

=

t

t




[1]


[image: image121.wmf]6

20

120

140

40

20

20

=

Þ

=

Þ

-

=

-

t

t

t

t

s





[1]

23. [image: image136.jpg]


The following data shows the number of chin-ups by a group of 30 boys in a fitness test.
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This data is being entered on the dot diagram shown in the anwer space below. The first row has already been entered.

(a) (i)
Complete the dot diagram.

(ii) Write down the mode.
Mode = 4
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(b) The same data is to be represented on a pie chart. Calculate the angle representing one chin-up.

Angle representing 1 chin-up 
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(c) Another class of 25 boys has an average of 2.8 chin-ups. Calculate the average of the number of chin-ups in the combined group of 55 boys.

Average 
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24. Bag A contains 6 red, 4 blue and 2 white balls while bag B contains 5 red and some blue balls. The probability of drawing a blue ball from Bag B is 
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. One ball is taken from each bag at random.

(a) Find the number of blue balls in Bag B.
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(b) Complete the tree diagram below:
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(c) Find the probability that

(i) the two balls drawn will be of the same colour,
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(ii) the two balls drawn consists of at least 1 blue ball.
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End of Paper 1
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